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General Instructions :
(i)  All questions are compulsory.

(ii) Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

(iii) Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

(iv) Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

(v)  Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.

1.y =l g1 1 37 &, NI QLT & Teh STMUR Bl &1 |7 GG o gieshivT o SER
W T FHY Pl FARAT FHIT |

“The loss of land means the loss of an economic resource base.” Interpret the
statement from the indigenous people’s point of view.

2. TITSH-ToRIT SR T UTHIOT el | Ueh =T Wb T UehsIe el BT TIIehT SRl HIAdl & 2

Why is Anti-Arrack Movement called an altogether different kind of mobilization in
the rural areas ?

3. TR i AT H U A & G, IR 7 1971 | Wifead 99 o |91y vNifa a9
THere =t 20 FuE | T = 2

Inspite of following a policy of Non-alignment, why did India sign 20 year Treaty of
peace and friendship with the Soviet Union in 1971 ?
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4, eI AT T TG AUE ¢ 2

What does ‘ASEAN Way’ imply ?

5. T A EfanEd 3 9 5 R % 6T TRt Fél e o ?

(a)
(b)
()
(d)

T @ | &t 3 |
TTYEH ol SR 9T AT |
3T ETT T AT |

THR T FIR [HI=07 S0 T& T |

Gorbachev did not promise to reform which one of the following ?

(a)
(b)
()
(d)

6.  FERIGRAT & e HEAwT o &9 H, T[0T 91 S alehd T off 2

To loosen the administrative system.
To catch up with the west.
To reform the economy.

To maintain a strict control over the government.

What was the strength of the non-aligned countries as mediators between the super-

powers ?

7. OTE | i IO o S90 § U eH & ®9 4, TSa MH — Ao GHS T 3TehelT

HIT |

Assess the Rajiv Gandhi — Longowal Accord as a step towards bringing normalcy to

Punjab.

8. T I el STl § foh Tete Ft et sy #t et o ferdl-Sjerd € 2

Why is it said that the story of Nagaland is similar to that of Mizoram ?
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10.

11.

12.

13.

frfetad o Het &Y

(2)
(b)
()
(d)

(a)

(A) (B)

(81T STTHTEATAT it UTe) T
HTATTh- 1T Yge o SR U I 9707 () T
AT UEE 3 o o AT T (i) sREeE
ST ST & HoRawy o9 o FEOT® AT (i) U9
SNTEETEl Yg=T & 3MYR YT STeTaarst i (iv) dHeTg

Match the following in a meaningful way :
(A) (B)

(Nature of regional aspirations) (States)
Socio-religious identity leading to statehood. (1) Mizoram
Linguistic identity and tension with centre. (1))  Jharkhand

(b)
(©
(d

Regional imbalance leading to demand for statehood.  (ii1) Punjab

Secessionist demands on account of tribal identity. (iv) Tamil Nadu

4xY=2

37 URTETqar 1 fovelooT T e YRAE argas] S &1 1964 | faar & fog foasr
fopar ar |

Analyse the circumstances that compelled the Communist Party of India to go for a
split in 1964.

=T+ Hifoaa srieEEe i 7ied F® AIAET 2 3 "o § A Pl {6 qI alehl § o
g ?
Why did China adopt Soviet model of economy ? In which two ways was China
benefitted by this model ?

TR & oI Wl & T AT AN & &9 H iehalls Sl U BT |

Describe terrorism as a new source of threat to security.

2+2=4

FITST T T A1 2 =, TR qA7 37 {Thraeier 90 1 30 THeid ¥ i qord @1 T

qn ?

1+3=4

What was Kyoto Protocol ? Why were China, India and other developing countries

exempted from Kyoto Protocol ?
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14.

15.

16.

17.

59/2/2

T & T 1964 H 8% [T T, TR & ASHITT H TRAT RS Il o AR
! ATEAT HINT |

Explain the contribution of the Communist Party of India in Indian politics since
independence upto its split in 1964.

SHERT 1980 H STHAT WRHR & Ua qdT Tieh T & T 92 faR @ g1 Sa™ & T i
SR &7 2 37 IR Sl T HIFT |

What led to the downfall of the Janata Government and holding of fresh Lok Sabha
elections in January, 1980 ? Explain the circumstances.

TR | TR 307 aret 21féreh foehra & Wevel § il o o STRerlt aRiefaar s aieor
HIT |

Examine the circumstances responsible for reducing the salience of State-led
economic development in India.

ST T STaRoT B SAFYEE Uigd R =TT we % ST I

TRA H SRETh0T T (a0 S &oTohl J & T & | 3N SRaiehoT & fgeih araet
o ol 3TETS] ST Sl ol X § 331 & 1 Sfea TRl BRY S T 9 off | e
ek 3R [T o TeAT o Sgarea FeT o UaeT o foRiy foham & | $% aetaar gger
A T STERIDT SR RIUG FH A U I & YA 6T | g Hf gl foxre g7 |

(i) RA % el 31 U TSI SeAl o AT fAfEy |

(i) T oo Hfhe Tl |, JEUEE HUHEl % YR STEA % ot ORIy e
T 2

(iii) 3RI! FHT FRT 1 F&T T U I & HRUT IRA H foRe HQ U= g 2

Read the passage given below carefully and answer the following questions :

Resistance to globalization in India has come from different quarters. There have
been left wing protests to economic liberalization voiced through political parties as
well as through forums like the Indian Social Forum. Trade unions of industrial
workforce as well as those representing farmer interests have organized protests
against the entry of multinationals. The patenting of certain plants like Neem by
American and European firms has also generated considerable opposition.

(1) Name any two left wing political parties of India.

(i)  Why did the unions of workers and the farmers organize protests against the
entry of multinationals ?

(ii1)) How did the patenting of the Neem tree by the Americans generate opposition
in India ?

5 [P.T.O.
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18. i 3T T SFeor b eAHYEh Uigd 3R fefetEd ueAt & 3¢ ST 2+2+1=5

59 T fordl =afed o1 TR & HeRRT i eET T TEd SR Mo o &,

ST IE TH I DT {97 i W off Be] 3R ST e 1 376 Uear ¢ | fospreier

M & U SR HET & T 310 GUBRT T R A & AT STt GETEAT Bl 377

BT & | 36 Iofd Jf 9g-d¢ S¥I i STUET a¢ WH-HS el W lRT ST faeer At a

HA & | TH T 1 IR TH o1 W BT & 1 S IS | -9 e W@ 3R faerg g

W@ | T AT, forebraeiier 397 e i TLET i gfte & 91T drehde] 39 W i g

T | 30 fRar &1 off S fader Afq W Se-qe o7 Usdl € | W 9vags & q[d 9% &b

3R A o Tahreier 391 = drehde] I 1 TSl bl S H THT AT foreer =Aifq 31arg

HITF 3T I T T TR 37T Fol (et T AT | T aofe ¥ g o fafe= <91 &1 & |

T |

() R B T Fifd r wIiad HA et Te] T SR TR0 3T Ueh-Ueh SR
T |

(ii)  Toepraetier ST o1 & 370 Uiy | Wit 9o faem W aifye i g § 2

(ili) 37 3 9 T & A Ay 579 e S gam o |

Read the passage given below carefully and answer the following questions :

Just as both internal and external factors guide the behaviour of an individual or a
family, both domestic and international environment influence the foreign policy of a
nation. The developing countries lack the required resources to effectively advocate
their concerns in the international system. So, they pursue more modest goals than the
advanced states. They focus more on peace and development in their own
neighbourhood. Moreover, their economic and security dependence on the more
powerful states occasionally influences their foreign policy. In the period
immediately after the Second World War, many developing nations chose to support
the foreign policy preferences of the powerful countries, who were giving them aid or

credits. This resulted in the division of countries of the world into two clear camps.

(1) Give one example each of the domestic as well as international environment
that has influenced the foreign policy of India.
(i) Why do the developing countries focus more on peace and development in their

own neighbourhood ?

(ii1) Mention the two super blocs the world was divided into.
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19.

———

T ST T Al THERT 67 MY ST BT 3R FEfeiad e h SR AN 1 +2+2=5
(i) o vReTT % WgHH aTet W g7 Sl e i |
(i) TR A Sl WEHR A Yo o UeT 37 fore | Fa o o 2
(ili) YT A & T & S T 39 el U T Uidishar e
Study the above newspaper illustration carefully and answer the following questions :
(1)  Identify the main issue that sparked off the agitation.
(i)  What did the National Front Government decide in favour of or against the
issue ?
(i11)) How did the coalition partners in the National Front react to this decision ?

A ;. FfeRad 7o Heet geaTier wiemeR & o e Tem 19 F A WE 12+2+1=5
19.1. 37 TUsg o I qaTe uidtiee 3 o 9 o e & 2
19.2. TEeT SN i T Tt T4 off 2
19.3. I HIY i GIHR BT TFH B 4T 2

Note : This following questions are for the Visually impaired candidates only in lieu
of question No. 19.

19.1 What was the rationale behind giving adequate representation to Other
Backward Classes ?

19.2  Why was the Mandal Commission setup ?
19.3  Who was the Prime Minister of the National Front Government ?
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20. [T T SFEROT Sl YA UTGT SR ARG T9AT o 3T JIT 1+1+1+2=5

IRA TG & T U Gl & HROT BIAR, SoN-3(d, SR Ihars o

Getad el & SRF-IEH, T TR § Ugd - gl 99 & 919 379+ i § Fqor

A S A&l § WER gU § | B9 B 30 99y ¥ qoH 9 HEST W€ ¢ O IR €9 % few

EERT 1 T Gad g TUSIR <9 & | ARA™ FA1 6l et A ai-am= €9 9

T Bl € | i WRA A & ST <9 A ¥ Ueh & SHIAT o R &9 o fely Aol ¢ |

IHA A % R HI TSl T FHI ARG F AR I & | ARG ©F H 370 FoA-2707 Al

FET DT HISTST H T & | THT SHISTIT Hfhed SR THAHEN & T off 9T Wl & | &

TURTSAT o QT &AM o 3T oot aet ToTehl § QISR 31X Faer e of st & 1 &9

IR ! RATUER AT & {oTT O Fewaqul § | ®F F YR o 37aiet SaT | of S ug

T TGl |

() B B H qGA T YA I Teddl Hd i ?

(i) YRT 3R &9 & 9 3T Gl 3, 99 & T Frawel § Gqod S0 3@ & [T,
IR ! FETIaT [ Ul 2

(il) YRT & AR ST H &F 7 [T YR Tl ol ?

(iv) 9RA 3R EF [Hd UHR Tk THY T AN g © 2 IHT 3R ¥ Uh-Ueh I3 ST |

Read the passage given below carefully and answer the following questions :

India stands to benefit from its relationship with Russia on issues like Kashmir,

energy supplies, sharing information on international terrorism, access to Central

Asia and balancing its relations with China. Russia stands to benefit from this

relationship because India is the second largest arms market for Russia. The Indian

military gets most of its hardware from Russia. Since India is an oil importing nation,

India is important to Russia and has repeatedly come to the assistance of India during

its oil crises. India is seeking to increase its energy imports from Russia and the

republics of Kazakhstan and Turkmenistan. Cooperation with these republics includes

partnership and investment in oilfields. Russia is important for India’s nuclear energy

plans and assisted India’s space industry also.

(i) How did Russia help India on Kashmir issue ?

(i) How do good relations with Russia help India to balance its relations with
China ?

(i11)) In what way did Russia help the space industry of India ?

(iv) How did India and Russia get benefitted from each other ? Give one example
from each side.
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21.

L
40°FE o > 9 g 9 g g T30°

few T <feror wfern % YErAmtE # O w9 @A), B), (C©), (D) @@ (E) 3R awhE
TR | A S T BRI % YR W Sl Ted HinTg SR 1O ST-gResht H 3k
T A, WA i TS STHHRT i 6T &I TIT Farda SR H A &F T8 dAlNCTw & 9 H
fefEu | 5x1=5

TN & T8 AHRI Bl HhA G&AT | Haidd 6w T HT AW

(i) 3T S % AN {7 =i 1 RIFS & 41T ST AR H Tohel € |

(i) TEIWT 1960 | IR o W oy S7e1 Gy v of |

(iii) TorpmaeTict <2 § | Ush - Thetaesh SOt Jig i 52 i HE=01 § & |
(iv) Tl WhIST, TTiehe o JeTeRk qeT HISTaTa! SIieRtar o fdehi T & TR aTel 397 |
(v) E U ST 1968 T Teh Hodd o7 |

59/2/2 9 [P.T.O.



59/2/2

In the given outline map of South Asia, five countries are marked as @, , @,

@ and @ Identify them on the basis of information given below and write their

correct names in your answer book with the respective serial number of the

information used and the alphabet concerned as per the following format :

()

(ii)
(iii)

(iv)

v)

Note :

Serial No. of the Alphabet | Name of the
information used | concerned Country

The citizens of this country can travel to Nepal and work there without any visa
or permit.

This country signed the Indus Water Treaty with India in 1960.

One of the first developing countries to successfully control the rate of growth
of population.

The country that faced a triangular conflict among the monarchist forces, the
democrats and the Maoists.

Island nation which was a Sultanate till 1968 ?

. Tt vee oot gieaTfia wieal & o e Sen 21 F | WE | 5x1=5

21.1. gfhagor Ui & fohe ST ST off TS0 € 2

21.2. sficiohl % TgEETH G H A1 fefay |

21.3. T 30T TfermE 391 = HER TOTCl! BT R STARHS HUTCH STITE 2
21.4 e % fou foehrq St & Hellush TemidT e aTell 3971 i 1 € 2
21.5 2006 W foh 397 | ikl ol JARNYAT 88 ot 2

The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 21.

21.1  Which country of South Asia is still being ruled by a monarch ?
21.2  Name the majority community of Sri Lanka.

21.3  Which country of South Asia shifted from the Parliamentary form of
Government to Presidential form of Government ?

21.4  Which country is the biggest source of developmental aid to Bhutan ?

21.5 In which country did restoration of democracy take place in 2006 ?
10



22.

23.

24.

25.

FRI! e o T | 3 1ol Gad o A STl 3 oo Hiy | 3x2=

AT

T T 31T & IAH & ol ST A T SRRl I 3THeT BT | 3x2=

Analyse the biggest three constraints that operate on American hegemony.
OR
Assess the three major factors responsible for the rise of the Chinese economy.

Te-FRUeT 3NRIeT & Ueh T & % A1, I g o IR TR i YfFehT i ST i |
areraT
Hiterad T o faeed 3 7 o9 aE 9 favar THiid ot Ieffad fhar 2 e S |

Ix2=

As a leader of Non-Aligned Movement (NAM), explain India’s role during the Cold
War.

OR

In what three ways did the collapse of the Soviet Union affect the world politics ?
Explain.

TS T % Ot T <N o Wereedt g1 faam 2001 H folw MU (v & SER, g

I T AR 31Tk U 99 o feT 32W S et [l ©: heHl &l Sooid ST | 6x 1 =

YT

TEAT etk G Tohd hed & 2 5aeh! 3T 21fueh TTel S ST ST Hehell € 2 2+4=

Mention any six steps which should be taken to make the U.N. more relevant in the
changing context as decided by heads of all the member-states in September 2001.

OR
What is meant by Cooperative Security ? How can this be made more effective ?

1969 H TG TTel % O (a9 o [0 ST fafgshe T SieRT Tt & s Tessi
T faveor HifT |

YT

1970 % T9MF H, IR H T WHR qdT IRt & g o9 FH1 oI HROT - arelt
HETSAT S SThe i |

Analyse the factional rivalry between the Syndicate and Indira Gandhi which led to
the formal split in the Congress Party in 1969.

OR

Assess the developments which were the root cause of the confrontation between the
Union Government and the Judiciary in India in 1970s.

6

6

6

6

6

6
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26. YRA % QIfad forTs o Ga |, YRA i AT TR T2 et T o geshion § 3fdy
T HIST | TSTATST I THE T &A B & [T TR TIHN o GHT =TT § T A fa=amy
T TIRI0T HITTT | 3+3=6

AT

1960 % T W, SI7 o e W § 9RI RIS Hohe a7 7ol Sl [efq Uer e o fow
SRR uRfefad &1 foveiuor ST | 397 % Thg T5T & Fa9 3 PIaEr gel Y
9 T HIOT | 3+3=6

Distinguish between the approach of Interim Government of India and the Muslim
League regarding the possible division of India. Examine the considerations that
guided the Indian Government to solve the problem of Princely States.

OR

Analyse the circumstances which led to a severe food shortage and famine-like
conditions in many parts of the country in 1960s. Which state of India suffered the
most and how ? Explain.

27. ST 3R HYER H SIS Hehe ol 3R 31T Ted= H, SHATE T2 STermadns b JHeh 1

U HIT | 6
areraT

1980 % 3T o S IO H, 391 FS T I8l W, S SART T i TSI 9 T

TS TET | 376 F gl oI &1 9UF ST | 3x2=6

Describe the role played by insurgency and separatism in aggravating the political
crisis in Jammu and Kashmir.

OR

As the decade of the eighties came to a close, the country witnessed some major
developments that were to make a long lasting impact on our politics. Describe any
three of them.

59/2/2 12



